NMT-10-1164-01

SB4/SBX4 DR Packing

Installation Instructions

[ ]

1/ 8 —

2.5

Required tools

~
e
19-17-13-8 3-2,5

& X1
\/é/\*\ —— Grease (provided by RFS)———

™
S

0

Itis important to mount the antenna exactly as described in this installation instruction.

The installed antenna shall be inspected once per year by qualified personnel.
RFS disclaims any reponsibility for the result of improper or unsafe installation.
This installation instruction has been writen for qualified, skilled personnel.

We reserve the right to alter details, expecially with respect to technical improvement

19-17-13-8

A13  ——X2

M12  ——x4

M12  ——ix2

1 X1

Rain Cap i x1
__F W,

M12  ——x4

M12  ——X2

Brass Nuts

L84

A8.4

M10

M8

M8

SB4/SBX4 DR Packing RES
Installation Instructions —
NMT-10-1164-01 2/ 8 i
Custom Mechanical Interface
for integrated solution
1 X1 1 x1
Kit for Customer Mechanical
Interface for integrated solution 1
' ix1
Adapter Interface x1
Packet for Adapter Interface | x1
' < V-Bolt M10
1 X1
; — Eye Bolt 8 x 130
Basic Feed ix1 (: . 1x1
@:W — I M10x40 ——iX3
RF Interface (x4

—AX3

—X3

—ix1

—ix3

—ix2

—ix3

—ix2

—ix2




[ SB4/SBX4 DR Packing ]
NMT-10-1164-01 Installation Instructions

e [ SB4/SBX4 DR Packing ] B

~

%mess steel Wire x4

@:ﬁ - i M5x20 ——ix17

—— i M5x12 ——ix36

M5 +——x36

A5  ——x89

B5 +——x17

— )
P

)
)

S
=] 5 Fixing plate swaybar
1x1

g Fixing clamp swaybar ix1

——s

@ U Bolt M6/27 o
@:l _—  IM10x40 ——ix1

1 M10 x 30 — X8

i A105 ——IX16

{ M10 +——Xx8

I A64 +—ix4

M6 ——ix8

—
3/8 - NMT-10-1164-01 Installation Instructions
N

/ Generic View (Standard Radio Interface)
x1 O

x1

Swaybar

AN

x1

—
@ R RT—

::: | )




[ SB4/SBX4 DR Packing ] [ SB4/SBX4 DR Packing ]

Installation Instructions 5/ 8 M NMT-10-1164-01

Installation Instructions

NMT-10-1164-01

0 ‘Working at ground ) Working 7) the dovetng protscive fim
n Pylon

12

o

3 o //
v@‘b@@@%&@@

%
<

e Option 1} All Frequencies excepted Option 2} 6 Ghz and 7/8 GHz

6 Ghz and 7/8 Ghz




NMT-10-1164-01

[

SB4/SBX4 DR Packing

Installation Instructions

NMT-10-1164-01

[ SB4/SBX4 DR Packing ]

Installation Instructions

18

Screw tightened following the sequence : Step 1 then Step 2

Rain hole




